Answers for Ivan Mirsky
He is 13
No he doesn’t (go to school)
He was born in Russia
He lives in Brooklyn
He lives with his father 
His father doesn’t have a job 
He could ride a bike when he was 18 months old and read before he was 2. He could play cards at 3 and the piano at 4. 
The y practice chess problems
No he can’t (speak English)
No he doesn’t (have any friends)
He plays chess 
Answers for Jaya Rajah
He is 14
No he doesn’t (go to school) but he studies medicine at University
He was born in India
He lives in New York 
He lives with his parents and his brother 
His father is a doctor 
He could count before he could say Mummy or Daddy. He could answer questions on calculus when he was 5 and do algebra when he was 8. 
He studies  from 6.30 to 10.00 
Yes he can (speak English)
No he doesn’t (have any friends)
He sometimes watches TV



